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1-~( ) Which of the following elements is diamagnetic 7
(A)H (B)Li (O)Be (D)B (E)C

2 ~( ) Which of the following rules states that no two electrons in an atom can have the same set of
quantum numbers ?

(A) Hund's rule (B) The Heisenberg Uncertainty principle (C) The Pauli Exclusion
principle (D) The de Broglie hypothesis (E) The Bohr model

3 ~( ) Which of the following is true of the alkali metal elements ?
(A) They usually take the +2 oxidation state. (B) They have oxides that act as acid anhydrides.
(C) They form covalent bonds with oxygen. (D) They are generally found in nature in
compounds. (E) They have relatively large first ionization energies.

4-~( ) Which of the following ions has the smallest ionic radius 7
(A) O* (B)F (C)Na" (D) Mg~ (E) A"

5+( ) Which of the following is an impossible set of quantum numbers (n, |, my ms) ?

()4, 0,0, 3 (B4, 0,1, (@4 1,0, ; M4 1 1, ]

1

E)4. 2, 1, 5

6 ~ { ) Which of the following species does NOT have a tetrahedral structure ?
(A)CH; (B)NH,” (C)SFs; (D)AICl, (E)CBry

7~ ( ) Inwhich of the following species does the central atom NOT form sp2 hybrid arbitals ?
(A)SO, (B)YBF; (CO)NO; (D)SO; (E)PCl;

8~ { ) Which of the molecules listed below has the largest dipole moment ?
(A)Cl, (ByHCI (C)SO; (D)NO (E}N;

9-( ) A gaseous mixture at 25°C contained 1 mole of CHy and 2 moles of O, and the pressure was
measured at 2 atm. The gases then underwent the reaction shown below.
CHq(g) +20:2(g) 2 CO.(2) + 2H20 (g)
What was the pressure in the container after the reaction had gone to completion and the
temperature was allowed to return to 25°C 7

(A)latm (B)2atm (C)3atm (D)4atm (E)Sam

10~ ( )A 22.0 gram sample of an unknown gas occupies 11.2 liters at standard temperature and pressure,
Which of the following could be the identity of the gas ?
(A)CO, (B)SO; (C})0; (D)N; (E)He

Il ~ { ) Which of the following conditions would be most likely to cause the ideal gas laws to fail ?
1. High pressure
1. High temperature
Hi. Large volume
(A) Tonly (BYHonly (C) I and Houly (D)I and Wonly (E) I and 1 onky
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) Which of the following gases would be expected to have a rate of effusion that is three times as
large as that of Hy 7
(AYO, (B)N; (O)He (D)H:0 (E)CO;

) Which of the following is true of a substance in equilibrium in the liquid phase ?
(A) Its temperature must be less than 100°C. (B) Its temperature must be greater than 0°C.  (C)
Its temperature must be lower than that of the surrounding atmosphere. (D) Its vapor pressure
must be greater than the pressure of the surrounding atmosphere.  (E) Its vapor pressure must be
lower than the pressure of the surrounding atmosphere.

) 2A1 (s} + 3CL () = 2AICl; (s)
The reaction above is not spontaneous under standard conditions but becomes spontaneous as the
temperature decreases towards absolute zero. Which of the following is true at standard
conditions ?
(A)AS and AM are both negative. (B) AS and AH are both positive.
(C) AS is negative and AH is positive. (D) AS is positive and A\ is negative.
(E) /AS and /A H are both equal to zero.

) If an endothermic reaction is spontaneous at 298K, which of the following must be true for the
reaction ?
1. AG is greater than zero.
1. AH is greater than zero,
II. A8 is greater than zero.
{A) Tonly B)yOonly(C) T and Honly (D)HDand Monly (E) I, O, and I

) Hx(g)+Fa(g) > 2HF (g)
Gaseous hydrogen and fluorine combine in the reaction above to form hydrogen fluoride wiin an
enthalpy change of -540kJ. What is the value of the heat of formation of HF(g) 7
(A)-1080 kl/mol. (B)-540 k¥/mol. (C)-270kJ/mol. (D)270 kI/mol. (E) 540 kl/mol.

) Which of the following aqueous solutions has the highest boiling point ?
(A)0.5mNaCl  (B) 0.5m KBr (C) 0.5m CaCl, (D) 0.5m CgH120¢  (E) 0.5m NaNO;

)} A student added 1liter of a 1.0 M KCl solution to 1 liter of a 1.0 M Pb(NQ3) solution. A lead
chloride precipitate formed and nearly all of the lead ions disappeared from the solution. Which
of the following lists the ions remaining in the solution in order of decreasing concentration ?
(A) [NO3T>[K"]>[Pb™] (B) [NOy]>[Pb™]>[K'] (C)[K']> {Pb™*]>[ NO5]

(D) [K'] > [NOs]>[ Pb™] (E) [Pb"] > [NOy]>[K']

) The solubility of PbS in water is 3 x 107 molar. What is the solubility product constant, Ky |
for PbS ?
(A) 2% 107 (B) 9% 107(C)3 x 10 (D) 3x 10 (E) 9 x 1078

) For a particular salt, the solution process is endothermic. As the temperature at which the salt is
dissolved increases, which of the following will occur ?
(A) Kqp will increase and the salt will become more soluble.  (B) K, will decrease and the salt
will become more soluble.  (C) Ky, will increase and the salt will become less soluble. (D) Ky,

will decrease and the salt will become less soluble. (E) K, will not change and the salt will
become more soluble.
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21 ~{ ) Which of the following expressions is equal to the hydrogen ion concentration of a I-molar
solution of a very weak monoprotic acid, HA , with an ionization constant K, 7

A)K. BK? (©)2K, (D)2K? (B) K,

22 ~( ) A multistep reaction takes place by the following mechanism 7
AtB = C+4D
A+C 2> D+E
Which of the species shown above is an intermediate in the reaction 7

AMA (BB (C)C D (EB)E

i A+B > C+D
The rate law for the hypothetical reaction shown above is as follows:
Rate =k [A]

Which of the following changes to the system will increase the rate of the reaction ?
I. Anincrease in the concentration of A.

. An increase in the concentration of B.

M. Anincrease in the temperature.

(A) Lonly (B) ] and Honly(C) l and Monly (D) M and Monly (E) I, I, and I

24 ~ { ) Which of the following is true of the oxidation-reaction that takes place in a galvanic cell under
standard conditions ?
(A)G" and E° are positive and Keq is greater than 1.
(BYG® is negative, E” is positive, and K., is greater than 1.
“(C) G’ is positive, E° is negative, and K, is less than 1.
(D}G® and E° arc negative and K. is greater than 1.
(E)G" and E° are negative and K. is less than 1.
25~ () A sample of radioactive material undergoing nuclear decay is found to contain only potassium
and calcium. The sample could be undergoing which of the following decay processes ?

1. Beta (B") decay .
1. Alpha decay .
1. Electron capture .

(A) Tonly (B) T only(C) I and Monly (D) I and 1T only
(BEy I. I, and Il




